RESOLUTION NO. 22-10CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Brooks Compton ON THE 3/st DAY OF June, 2010.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY MARK FINCHUM EXCAVATING, LLC, OF SOUTH CHARLESTON, OHIO FOR THE CITY OF CENTERVILLE'S SIDEWALK REPAIR PROGRAM – 2010 (SS-1C) AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the Sidewalk Repair Program – 2010 (SS-1C) according to specifications prepared by the City, and

WHEREAS, Mark Finchum Excavating, LLC, of South Charleston, Ohio, was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by Mark Finchum Excavating, LLC, for the Sidewalk Repair Program – 2010 (SS-1C) in the City of Centerville, is hereby accepted in the amount of \$30,251.25, a copy of which is attached hereto, incorporated herein and marked as Exhibit "A".

Section 2. That the City Manager is hereby authorized to expend up to an additional \$3,025 or approximately ten percent in accordance with the unit prices quoted in the bid submitted by Mark Finchum Excavating, LLC, if extra work becomes necessary, making the total amount approved \$33,276,25.

Section 3. That the City Manager is authorized and directed to do all things necessary to evidence acceptance of said contract and to make payment pursuant thereto.

Section 4. That this resolution shall become effective on the earliest

PASSED this 2/st day of June, 2010.

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 22-10 passed by the Council of the City of Centerville, Ohio on the 21st day of 1000.

Delra a James
Clerk of Council

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney

BIDDER'S PROPOSAL

Sidewalk Repair Program - 2010

Submitted by: Mark Finchen Exerciting ACC	
Having read the specifications and examined the drawings included herein:	
Sidewalk Repair Program - 2010 City of Centerville, Ohio	
for the construction of said project in Centerville, Ohio, and having also taken into account a addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, a specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:	as
A. STATEMENT BY ALL BIDDERS:	
The receipt of the following Addenda to the Contract Document (drawings are specifications) is hereafter acknowledged.	ıd
Addenda No/ Date	
Addenda No Date	
B. COMPLETION DATE INFORMATION	
The bid price reflected above represents an interim completion date of August 13, 2010 for work on streets near schools (as specified in Section 1), and a final completion date of September 17, 2010 for the whole of the work.	States or
C. CONTRACT PREPARATION INFORMATION	
The bidder shall supplement proposal by supplying the following information for use in t preparation of the Contract.	he
NAME OF COMPANY/CORPORATION: Mach Freedom Freeding 126	
NAME OF PRESIDENT: Mck Finchum	
ADDRESS: 227 Busclet Dave	
CITY, STATE, ZIP: South Charleston Ohio 45318	
FEDERAL TAX I.D. #:	
TELEPHONE #: (937) (05-3795	
FAX #:	
E-MAIL: Frack-m 29 @ Yohn con	

NOTE: Failure to sign proposal shall result in rejection of bid. THIS PROPOSAL SUBMITTED BY: (NAME OF CONTRACTOR) BY: (SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE) (DRINTED NAME AND TITLE)

Mailing address if different from above:

EXECUTION OF PROPOSAL

D.

UNIT PRICE SHEET

PROJECT NAME: Sidewalk Repair Program - 2010

THE CITY OF CENTERVILLE MATERIAL AND CONSTRUCTION SPECIFICATIONS ARE PART OF THIS PROPOSAL AND MAY BE REFERENCED FOR A MORE COMPLETE DESCRIPTION OF THE ITEMS LISTED, RETURN ONE (I) FILLED-IN COPY OF PROPERLY SIGNED PROPOSAL TOGETHER WITH THE EXECUTED FORMS,

REF. NO.	SPEC. NO.	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
IA	201	Clearing and Grubbing (exclud Tree Removal >12")	1	LS	500.5	500. co
ΙB	201	Tree removal >12" diameter, incl stump	1	EA	1000.00	1000.00
2A	202	Sidewalk/ramp removed	3650	SF	7. 65	7300.00
2B	202	Driveway Removed	60	SF	2.00	120.05
2C	202	Curb & gutter removed	40	LF	7.00	280.00
3	203	Grading (stabilizing back slope at sidewalk repair on Clyo Road across from Thomas Paine Pkwy)	ı	LS	500.00	500.00
4	452	Concrete Driveway, 6" Thick	60	SF	3.75	225.00
5A	604	Manholes adjusted to grade	1	EA	500.9I	500.00
5B	604	Catch basin grates adjusted to grade	1	EA	500.00	500.00
5C	604	Water/Gas valves adjusted to grade	2	EA	500.00	1000. 00
6A	608	Concrete Sidewalk, 4" thick	3550	SF	3,50	12 425, 08
6B	608	Concrete Curb Ramp, 6" thick	75	SF	3,75	281.25
6C	608	Brick Sidewalk/Ramp	75	SF	6.00	450.09.
6D	608	Detectable Warning - Brick Paver	30	SF	20.5	600.00
6D-ALTI	608	Detectable Warning - Cast-in-Place Panel (not cast iron)	30	SF	15.00	400.00
6E	608	Detectable Warning - Rigid Retrofit	30	SF	15.00	450.00
6E-ALT1	608	Detectable Warning - Flexible Retrofit	30	SF	15.00	450. a.
7	609	Concrete curb replaced in kind (incl. complete asphalt restoration)	40	LF	18.00	720.00
8	614	Maintaining traffic	1	LS	1500.00	1500.00
9	659	Restoration incl seeding/mulching, etc	1	LS	1,000,00	1,000.00
ocean de		Project	Total (Items	1A-9, excl		30, 251, 25

Note: The items and quantities are projected, and may be modified or removed at the City's discretion. Therefore, avoid weighting items because actual quantities could change substantially from the engineer's estimated quantities.

UNIT PRICE SHEET

REF. NO.	SPEC. NO.	DESCRIPTION	EST'D. QUANT.	UNITS	UNIT PRICE	AMOUNT BID
V-1A	202	Sidewalk/ramp removed	2880	SF	2 00	5760.00
V-1B	202	Driveway Removed	1400	SF	2.00	2.800.00
V-1C	202	Curb & gutter removed	860	LF	700	6020. de
V-2	452	Concrete Driveway, 6" Thick	1400	SF	3.75	5250. w
V-3A	604	Manholes adjusted to grade	1	EA	500,00	500.00
V-3B	604	Catch basin grates adjusted to grade	Ĭ	EA	500,00	500. OC
V-3C	604	Water/Gas valves adjusted to grade	2	EA	500.ª	1600.
V-4A	608	Concrete Sidewalk, 4" thick	2880	SF	3,50	10,080.
V-4B	608	Concrete Curb Ramp, 6" thick	50	SF	3,75	1875.00
V-4C	608	Detectable Warning - Brick Paver	36	SF	20-=	720,00
V-5	609	Concrete curb replaced in kind (incl. complete asphalt restoration)	860	LF	18,00	15,480 =
V-6	614	Maintaining traffic	1	LS	1500.0-	1500,00
V-7	659	Restoration incl seeding/mulching, etc	1	LS	1,000,00	1,000.00
		Total for Virginia Avenue Alterni	to Addition O			-my war

Total for Virginia Avenue Alternate Addition Only (Items V-1A through V-7) **EXECUTION OF PROPOSAL** NOTE: Failure to sign the proposal shall result in rejection of the bid. THIS PROPOSAL SUBMITTED BY Mark Finches Exceptinglic
NAME OF CONTRACTOR DATE 2/9/10 AUTHORIZED SIGNATURE PRINTED NAME AND TITLE Mark Finching Mark Fraction Contact person for contract processing Mailing address if different from below: _ CONTRACT PREPARATION INFORMATION The bidder shall supplement the proposal by supplying the following information for use in the preparation of the Contract. NUMBER OF WORKING DAYS TO COMPLETION FROM DATE OF NOTICE TO PROCEED: 60 South Chatcher Of 45368 FAX EMAIL __ FEDERAL TAX ID: